| CMGT350 ] Exam #2 ] Fall 2022 |
One page of notes, front and back handwritten by you. Handout of Tables. Algebra and Trig Cheat Sheets
SHOW ALL WORK FOR FULL CREDIT
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1. Determine the centroid of the built-up cross-section shown, for the reference origin shown. Determine the
moment of inertia about the centroidal X axis.
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2. The plywood blocks shown have been arranged to determine the shear strength of a glued joint.
If P = 3000 Ib at failure, what is the shearing stress that develops between the plywood pieces?
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3. Acircular tube has an outside diameter of 2” and an inside diameter of 1.25” is compressed under a load of

22.5 kips. (a) Calculate the compression stress in the tube. (b) Calculate the deformation of the circular tube
if the tube is made of aluminum and has an original length of 24 inches. E = 10 x 10° ksi
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4. Acircular cable that is 50 ft long is made from steel and has to hold a total of 40,000 |b. The cable can
elongate no more than 0.34 in. Determine the diameter of the cable to the nearest 1/8" inch to meet this
requirement. E = 30 x 10° psi
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